3. Planing and profiling

3.4 Finger jointing

3.4.5 Scoring sawblades and hoggers

20

®9

dl

GLL

8

Scorer for shoulder minifinger joints

Application:

For scoring in front of the trimming hogger or for machining the face edge of shoulder

joints.

Machine:

Finger joint machines with trimming and scoring aggregates.

Workpiece material:
Softwood, hardwood and wood

Technical information:

derived materials.

Particularly suitable for scoring the shoulders on finger joint machines. Tear-free

shoulders guaranteed.

Scoring sawblade for Grecon PowerJoint

WK 100 2
D SB BO Z ZF QAL Nimax ID ID
mm mm mm min-? LH RH
100 4.4 20 18 Fz HW 8000 061995 ¢ 061995 o
Single scoring saw mounted on flanged sleeve
SK 999 2, SK 999 2
D SB BO Z ZF QAL iz ID ID
mm mm mm min-? LH RH
200 6.5 40 DKN 48 Wz HW 7200 061986 0 061987 O
200 4.75 40 DKN 64 ES HW 7200 062632 01 062633
Double scoring saw mounted on flanged sleeve
SK 999 2
D SB BO Z ZF QAL  Npax ID ID
mm mm  mm min'  LH RH
200 122 40DKN 48 WzZ/WZ HW 7200 061988 0 061989 O
200 123 40DKN 48 ES/WZ HW 7200 0619900 061991 O
190
Spare sawblades:
D SB BO Z ZF NLA QAL  npax ID ID
mm mm mm mm min' LH RH
200 6.5 75 48 WZ O6NLTK95 HW 7200 061992e 061992 e
190 6.7 75 48 ES 6NLTK95 HW 7200 061993 e 061994 e
200 4.75 75 64 ES 6NLTK95 HW 7200 062630e 062631 e
Spare parts:
BEZ ABM L BO ID

mm mm  mm
Flanged sleeve 113/75x61x40 DKN 61 40 DKN 061680 e
Flanged disc D115/BO75/TK95 75 028676 o
Spacer 180x1x75 75 028677 e
Countersink screw, Torx® 20  M6x16 006086 e
8 85| @ S 238 5|w @

GLL

GLL

e

—J

ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropon (4722)40-23-64
BpsiHck  (4832)59-03-52
BnapuBocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHGypr (343)384-55-89
WBaHoBO (4932)77-34-06

VxeBck (3412)26-03-58
WUpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
INvuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

MarnuToropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
HabGepexHble YenHbl (8552)20-53-41
HwxHuih HoBropoa (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHBypr (3532)37-68-04

MeHsa (8412)22-31-16

Poccua (495)268-04-70

Mepmb  (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PA3aHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-lMeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coun (862)225-72-31
CraBpononb (8652)20-65-13

KazaxcTaH (772)734-952-31

https://leitz.nt-rt.ru/ || lIzt@nt-rt.ru

CypryT (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbaHoBCcK (8422)24-23-59
Ydpa (347)229-48-12
XabapoBck (4212)92-98-04
YenabuHck (351)202-03-61
YepenoBel (8202)49-02-64
fApocnaBnb (4852)69-52-93


https://leitz.nt-rt.ru/
mailto:lzt@nt-rt.ru

3. Planing and profiling 3.4 Finger jointing

3.4.5 Scoring sawblades and hoggers

.;___.: '.{‘::'-{.-"
i "--f_f Application:
fitting.
Machine:

Workpiece material:

Technical information:

Sawblade hogger for trimming minifingers

Softwood, hardwood and wood derived materials.

Sawblade hogger mounted on flanged sleeve

Defined trimming of the workpiece before cutting the fingers for adjusting the finger

Finger joint machine with trimming aggregate, double-end profiler, tenoner.

HW circular saw blade with high number of teeth. Bevelled on one side for perfect
cutting quality and reduced tear-outs.

SK 999 2
D SB BO Z ZF QAL ID ID
mm mm mm LH RH
250 6.35 40 DKN 80 ES HW 062618 0 062619 O
250 8 40 DKN 60 ES HW 062620 0 062621 O
350 8 40 DKN 72 ES HW 062622 0 062623 O
Spare sawblades:
D SB BO VA ZF QAL ID ID
mm mm mm LH RH
250 6.35 75 80 ES HW 062624 ¢ 062625 ®
ES 250 8 80 60 ES HW 062626 ¢ 062627 ®
350 8 80 72 ES HW 062628 ¢ 062629 o
Spare parts:
BEZ ABM L BO ID
mm mm mm
Flanged sleeve 113/80x59x40 DKN 59 40 DKN 061679 o
Flanged sleeve 113/75x61x40 DKN 61 40 DKN 061680 e
Flanged disc D215/BO80/TK195 80 028675 o
Flanged disc D115/BO75/TK95 75 028676 o
Countersink screw, Torx® 20 M6x16 006086 o
Countersink screw, Torx® 20 M5x12 006247 o
Cylindrical screw with ISK M8x12 005943 o
=" =" (e
Y, J J
GLL &35 58 & 228 o 5 & g
110 M ﬁ
LV 4 LV 4 48

ApxaHrenbck (8182)63-90-72 WxeBck (3412)26-03-58 Marnutoropck (3519)55-03-13
Actana (7172)727-132 WUpkyTck (395)279-98-46 MockBa (495)268-04-70
AcTpaxaHb (8512)99-46-04 Kasanb (843)206-01-48 MypmaHck (8152)59-64-93

BapHayn (3852)73-04-60 Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
INuneuk (4742)52-20-81

HaGepexHble YenHbl (8552)20-53-41
HwxHuin HoBropog (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck  (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

Mensa (8412)22-31-16

Poccua (495)268-04-70

Benropop (4722)40-23-64
BpsaHck (4832)59-03-52
BnapuBocTtok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHGypr (343)384-55-89

WBaHoBo (4932)77-34-06
Kuprusua (996)312-96-26-47

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
Pasanb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdbeponone (3652)67-13-56
CMmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononbk (8652)20-65-13

KasaxcraH (772)734-952-31

https:/lleitz.nt-rt.ru/ || lzt@nt-rt.ru

CypryTt (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Yepa (347)229-48-12
XabGapoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenoseu (8202)49-02-64
flpocnaBnb (4852)69-52-93


https://leitz.nt-rt.ru/
mailto:lzt@nt-rt.ru



